_ SECTION 3.5.2 Small firms

e Why do so many firms  Most firms in any national economy are small sole traders or private limited

remain small? <companies owned by one or a small number of shareholders.

Over time into much larger organizations but the v
economy will remain small.

Some may grow
ast majority of firms in any
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‘he barriers and disadvantages that ultimately prevent their growth.
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¥ Advantages and disadvantages of small firms

Advantages of small firms Disadvantages of small firms

1 Small firms can usually be set up very easily: 1 Because owners of small firms usually have full

o there are normally few legal requirements involved responsibility for running them day-to-day:
X they will need to keep accounts, advertise, recr

uit

in setting up a sole trader or small, private limited
company; and manage staff, deal directly with customer ana
v many can be run from home or rented premises with suppliers, and carry out many other tasks. HOWeV®
little capital; few owners have all the skills necessary to ruf thel
o some small firms may receive grants from their local firms successtully;
X they will often have to work very long hours,;

or central government to help them set up.

2 Paid managers rather than business owners often run
large firms. In contrast, the owners of small firms tend

to run them from day-to-day and are their main decision
makers. This can be an advantage because:

X they may have to close their firms and lose revenus
when they are sick or on holiday unless they are al
to employ someone else to manage and run thelr
businesses in their absence.

P IR Microeconomic decision makers




W Wl e kb dor] £ " « larger
* tN€y are motivated to run them well because they 2 Small firms are usually more vulnerable than larg

e all the profits; , firms. Many do not survive because:
v GeCisions can be made and communicated to their X they lack financial resources;
_€Mmployees quickly X they are in competition with many other firms;

X in the event of failure, sole traders face the additional
risk they will have to pay off any business debts from
their own personal savings.

3 Small firms find it difficult to raise capital to pay their
running costs or to finance their growth:

X banks and other financial institutions are not as
willing to give loans to small firms because they are

riskier and have few assets they could sell to pay off
their loans in the event of business failure:

X suppliers may be unwilling to sell their products to

small firms on credit terms because of the risk they
will be unable to repay them;

X unlike limited companies, sole traders cannot sell shares.

Nces and buying behaviour better 4 The average cost of delivering a service or producing or
and more quickly than in much larger firms selling each product is often much higher for a small
¢ unlike many larger firms, smaller firms usually do firm than for a larger firm because:
not have a significant amount of capital invested in % small firms may be unable to buy in bulk and receive
machinery and premises. This means they may be able bulk purchase price discounts from their suppliers;
to change their production processes and products X they cannot afford to employ specialist equipment
more easily as conditions change.

and staff that can help them to improve their
efficiency and lower their average costs.

Why do some firms
grow in size?

Mergers and the caus

Out a new store.

Not all firms can or should remain small if they are to survive and generate

profits. Growing in size can help a firm to reduce its market and financia] risks.
It may be able to raise more money to finance new, more efficient €quipment
and to employ more specialist workers. This can help the firm to Improve the

Firme m



quality and appeal of its products, reduce the cost of producing them ap;
increase its sales and profit margins.

However, producing more output means increasing the scale of prod UCtio,
a firm. This can be expensive to achieve. Cost may risc initially and thjc -

reduce profits. However, in the long run a larger firm may enjoy signific,,
cost advantages over smaller firms and capture a much .larger market shy,,
both of which should help to it to increase its total protits. » 3.5.5

There are two main ways a firm can grow in size and expand its scale of
production in the long run.

Internal growth Internal growth or organic growth involves a firm expandi'ng its own s
of production through investments in new and additional equipme: 44

technology, and increasing the size of its premises. This will increas: s
costs of production. » 3.7.1

To finance this growth the owners will need to use the profits of 1 m.

borrow money from banks and other lenders or sell shares in the ersh
their business to other investors. To sell shares a firm must becon int-
stock company. The new investors will become the owners or sh: lders

the company and be entitled to a share of any profits.

External growth External growth in the size of firms is more common. It involv e Or

more firms combining their factors of production to form a large: rprise
This is known as integration through merger.
A merger occurs when the owners of one or more firms, usuall simil;

i size, agree to combine their operations to form a new, larger ent:

However, a merger can also result from the takeover or acquisi: of a

! smaller public limited company by a larger one. This involves the | ver
company buying up all the shares of the smaller company with or . ithout!1

agreement of its managers.

" P ExxonMobil was formed in

1999 following an agreement by

US companies Exxon and Mobil to
merge their operations. The combined
company is now one of the largest

In the world and benefits from a
large market share and significant

} economies of scale in oil and gas
exploration, production and sales.




Integration or mergers between firms can take a number of forms.

Honzoptal merger occurs between firms engaged in the
production of the same type of good or service. Most integration
between firms is horizontal.

Horizontal mergers can benefit firms in the following ways:
v' The combined business will have a larger market share;

v It W111 reduce the number of competing firms in the industry.
This is called consolidation;

v Integrated firms may gain a number of cost advantages due
to their combined size. These are called economies of scale.
For example, by merging their finance, purchasing and other
administrative functions the new firm can reduce staff and
other costs. It may also benefit from price discounts offered
by suppliers for the bulk-buying of goods from them;

¢ Similarly, if common ownership results in the firms moving closer together
geographically then it will reduce their transportation costs.

However, combining horizontally to form a much larger firm can create
problems:

ek X for the owners and managers because it may become more difficult to

0 coordinate and manage the productive activities of a larger number of
workers, especially if they are spread across many ditferent locations. As a
B, result production costs may rise; » 3.9.9

X for consumers, because horizontal mergers can create large firms able to
restrict market supply and competition in order to raise their prices and

increase their profits. » 3.8.2

Vertical merger occurs when firms at different stages in the
supply chain for a product merge together. For example, a car
manufacturer may combine with a car retailer in order to control
the sale of its cars. This involves forward vertical merger. The

car manufacturer may benefit in the following ways:

THE CHEESE SHOP

| o It can be certain it has a retailer through which it can promote
and sell its cars and accessories;

o It can instruct the retailer not to stock vehicles produced by
rival manutacturers;

v It can absorb the profit made by the retailer on each sale.

Backward vertical merger can also occur between firms when
one firm combines with another at an earlier stage in its supply
chain. For example, a cheese producer may combine with a dairy
farm so that it is guaranteed supplies of milk, and may benefit in

the following ways,
clusive supplies from the farm.

THE DAIRY FARM o/ It can be assured regular and ex
being held up by

| This greatly reduces the risk of production
late deliveries;

A \Vertical merger
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it has enabled the company to achieve significant economies of scale, for

xample, by spreading the costs of research and development, adverﬁ§ing
1d its. It helps In

A Conglomerate merger between unrelated firms

However, conglomerate diversification can sometimes create significant
problems in a company:

. . X Managers may find it difficult to govern and control a much larger firm

BN made up of very different businesses producing and selling different
e 4 products to different groups of customers. This can result in
' mismanagement and misunderstandings between the various parts of the
business;

X When merging unrelated firms, managers will require a lot of efiort 1c
understand the products and operations of each business. This can resa
. a loss of focus leading to poor performance in all the businesses;

3
’ ' ' 1 v
: »

| X Workforce issues can arise when workers who are used to working ‘o~
ey different firms in different industries and who have different ski'i:

| attitudes and wages, are brought together into a single organizatior
result, disputes can occur and their motivation and quality of wor« .
suffer.
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e following mergers involve horizontal, vertical or lateral integrations?
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leraer or takeover I Horizontal? | Vertical? Lateral?

manufacturer merges with a car maker
stment bank takes over an electronics producer

reraft maker merges with an aero-engine company
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